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BT M

7’02

Intro
Today we will 7”va learn ©™ 97 of m»1aw NN
Some of the topics we will learn about include.

The Machlokes in »wip wipn nRw regarding

WP 0OV

Whether one is liable for a Korban if he forgot only that
this was owTp or the wpHN n°3, but he DID know that he
was Rpv.

The distinction in X2pY 227 WHR 227's sources for

WIPH 0OV Y 271 PR

Regarding

VT IV Y1

MOR IR POR PIVI R

Whether for nxmo obyn the n>°nina ny» must also include
the specific source of ixmv that caused him to become
RV,

The Machlokes in the Braisa’s two cases regarding

NV TARI ROV TR P20 W

There were two roads, one was v from a ni» that was
buried underneath, and the other was 71770, but it was not
known which road was X»v and which one was v

In one case

0323 R PURIL oM

©I111°1w3

A person first went on both roads and afterward he
entered the wipHH N2,

And in the second case

01N PURI o1

530) W) TN

031331 73W32 57 2PN

He went on one road and entered the wipnn n°2. He then
purified himself with the 779 99X and then went on the
second road and again entered the wpnn na.

The x»p Rin holds in both cases he is 27n

Pwnw 27 holds in the first case he is 27n, while in the
second case he is Mo

While 777 12 pu»w 27 holds in both cases he is moo.

In the first case they disagree in

YT NN

YT 5

If one certainly became x»v, but he knows only a partial
mv7 whether this is considered a complete 7>nna ny7

And in the second case they disagree in

YT pO0 WY

T

If one knows that he possibly became xi>v, whether this is
considered a complete 7> nna My

DafHachaim.org

POT OTPN NRNIO

WTPN OOYN

wTPN 05PN HY 2N 1R

YTT TY 11°V2

192w W
TNV TNRI RNV TR

D11 R ORI POM
01O 2W2

DO NWKRI2 PN
9201 MW NTH
D101 21W2 5N O"NXY

YT NXPN
NYYT? 535

N7 PDD VY
Y17
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So, let's review ...

The previous Mishnah taught

ARV MY

VIIN IV DY

One who »w3, inadvertently, ate wTp or entered the 2
wTpnn while he was Rpv, must bring a 79 75 1297 only
if it was

oM YT MY

N2 YT

oY ooYim

He knew of both the nxmv and the wpm WP before and
after he committed the 7772y, but he forgot only in the
interim while he committed the 7772v.

The Pasuk mentions two forms of b and the omon
derived another two forms of nnbn.

As the Gemara in ) 97 explains

oDnY

WP DRMIV DY T

WIPH DRIV NPT

VIR IO

vIPM WP

The Pasuk mentions nxmv 05v7, he forgot that he was
RpY, but he knew that this was ow7p or the wipnn N°3;
And the oron derived wipm wTp 05Y; he forgot that this
was D'wTp or the wTpnH n°3, but he knew that he was Riv.
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From the previouy Wishnah. ..

NI P
P2 T BN

One who axw2 ate DwTp or entered the wTpnn M2
while he was Npp,
must bring a 7 nbw 123 only if it was

NSNP YT N W

D2 NDTN
DN DOV
He knew of both the nnow and the wTpm wyp before
and after he committed the N1,
but forgot in the interim while he committed the nmv.

The Pasuk mentions two forms of
and the pmon derived another two forms of nnbvn.

Ay the Gemara in & £ explaing. ..
Yoot ol oz
(VRSP WTIP IRMVO Ny 7
TP WTPN NRNIO NY1TN
And the pwon derived The Pasuk mentions
WTpn WTp DOYD; NNDIL DYDY,
he forgot that this was he forgot that he was Npv,

DWTp or thewTpmn ma, but he knew that this was
but he knew he was Npv. DwTp or the wTpmn m2;
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The Mishnah concludes that wTpm wnp oy is actually a
Machlokes:

SRV’ 227 holds like the x»p Xin that

ARPIV 7Y 5Y 20

WIPP 0OV M

One is liable for both nxmw 05w and WP 0Hv, because
the Pasuk states

DWRI RV RIT1I0DH OOV ...

DWRI VT RIM 131 0OV

DHYD MW 0OV 0OV

The word o5y is repeated twice to teach
ARV DOYA HY 2°M5

wIpn 0HYn S,

While X2y 271 7158 17 both hold

271 RPIL 0OYR HY

WIPR OOYA 5Y 27°MIPR)

One is liable only for nxmw 05w but not for wipn oHvn.
However, they disagree as to the source for this Halachah:

75X 217 holds

WK 0OV 5V 271 PR

Because the Pasuk states

M RHDV 927 51 VN TUR WOIIN'

NPV R 1I0OD DL)IJJ'I RO 70 931N

The words

1P 0OV PV

Teach

271 PIw 05Yn Yy

WIPH DOVA Y 21K

One is 271 only if he forgot that he touched a y7w and
became XV, but not if he only forgot the wpn.

While x2°v 27 holds

WIPN 0OV YY 271 IR

From the following words

NPV R INDD D'?DJ'I

This teaches

271 RV 0YYR Y

WP DOVA Y 1 MIPR

One is 271 only if he forgot that he became x»v, but not if
he only forgot the wpn.

DafHachaim.org

WP e abpn
feptte 1> holdyy like the tp 4 thatt
NI DOP 5Y 2
wpn BYpn O
One s liable for both nRmw D5vn and wTpn D5vA,
because the Pusuk states
DR by R imm goh
DN D X $n gobi
PN P@/ P
ARDIL DOYN by anb
WTpH DOV bV

7)’/@ Y]
wpm 25Y oY avn N

Because the Pasuk stafes
i Rt 55 D3 bin AN Pl

Nty N 1 oo b Pl el N

s Pl plifp Jy
Copp pli> 1y Vi
One is an only if he forgot that he touched a yw
and became rov, but not if he only forgot the wTpm.

APPY I

WP aYYn 5P 2R N

From the %M/oww% words
N1ty X1 1$am Tohi

20 Ml Pl fy
Cpy ,o&;) i P YT
One is 20 only if he forgot that he became Nnv,

but not if he only forgot the wTpm.
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The Gemara asks

PIRD

What is the distinction between 15X *17's source and "17
R2’PY's source?

1.

13N 27 says

TPARIR PONT YDV

There is no Halachic distinction.

Their Machlokes is only from where this is derived.

2.

While iwpin says

MPPARIR 152N PV

There is an Halachic distinction regarding nxmv 05vn
whether the 7>’nna my*7 must include the specific source
of the nxmv that caused him to become xnv.

According to 7’5 227's source from the word yw;

VTT IV Y]

MR M1 R DOR PV R

He must also know the specific source of ixmv; but if he
does not know the specific source of IrmW, it is not
considered a n>’nnamy7, and he is Moo,

While according to X2’pY °27's source from the word xnv;
VTT IV YIRS

MVR MY R HDOR PIVI R

Even if he does not know the specific source of ixm10, but
ifhe knows that he became x»v, it is considered a 77
n>nn3, and he is 27n.

DafHachaim.org

P4

L)

1N?71%22 RN
7)’/';@ »)

MM N
W aoyn oy

APPY P
2NN
wpm aoyn oy

o g
W/ 2k

1N RN PYINT NMYHYD

There is no Halachic distinction.
Their Machlokes is only from where this is derived.

v
D72

1177272 RIXR NY2AN PIV
There is an Halachic distinction regarding nNmw Dbvn
whether the nbnna hy1 must include the specific source of
the nnow that caused him to become Nov.

According toymmbr127’s source from the word..
ni1 xmb ~=5 o3 bin o Dol
N N 18 oo Nty Pl eEis N
DT TV ]»D2
MR 1D N MDN YIV2IRN

but if he does not know the specific source of NN,
it is not considered a n>nm v, and he is WD.

While according to Rpv127’s source from the word...
N N 1am g
DT TD )v2 RS
MR NH2I2 N MR YOIV IR

but if he knows that he became npv,
it is considered a n>nna n», and he is avn.
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There is a similar Machlokes regarding

q02 MY’ of a NRLM 127P

In the Mishnah in mn>75 noon, which discusses a case of
1195 9 251

T PR DTV IPRIINWA I TIR DIN)

If there was a piece of 25n and a piece of 9m before
someone, and he ate one of them » w3, but he does not
know which one;

15X *27 holds he is nxvn 27°m, because

JwoI M

21558 250

2’1558 I

He knows that he certainly committed a transgression
whichever he ate. And even though he does not know the
specific transgression, he is 271, because for a nxvn 1277 a
specific M7 is not required.

While ywiv *17 holds that he is 1109, because the Pasuk
states

112 ROM TR ARV PR YT IR

I PR NI ..

ROM AP VTV TY

He must know of the specific transgression.

Dedicated By:
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There is a similar Machlokes regarding
qD2 AT of a HRLN 2

Inthe Mishnah v pp13_paoy, which discusses a W&%
17199 1M 25N
22102 JN TAR YON)
1D DR YT IR

Ifthere was a piece of 25n and a piece of Yma,
and he ate one of them aanw3,
but he does not know which one;

7)’)/)@ "y
NRLVN 2N

WD) N
2N 50N 2bn
2N 5ON

He knows that he certainly
committed a transgression
whichever he ate,
even though he doesn’t know
the specific transgression.
He is a0, because for a)2p
DRDN a specific
is not required.

}/g/’))/ /,3 9

MOD
because the Pusuk states
Pox s
== N iR mRbn
LT3R IR NI
£0n I p/)/?/fé 574
He must know

the specific
transgression.
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The Gemara, however, points out that there seems to be a
contradiction in the opinions of 315X *27:

In our Mishnah, regarding n>’nna ny»7 of a 79 75w 129p,
Y5R39 holds

VTTIY PV

MR TR HDVR IV R

A specific ny’7 is required.

While in the Mishnah in mn»5 noon, regarding 9102 77
of'a nRLM 127p,

Y5R39 holds

PTTIV YIRS

A specific ny’7 is not required.

The Gemara reconciles the two rulings of 1»"5x *37 and
explains that there is indeed a difference between j27p
nron and 79 A9 127

Regarding nxon j29p

VT TV VAR

Because the Pasuk, there, states

172 ROM TR INROM POR YT IR

M2 IR NI ...

RIW 53 RVN

He brings a nxvn if he knows that he sinned - any sin -
even if he does not know which specific 7772v.

However, regarding 77m mow 12790

VT TV VI

Because the Pasuk, here, begins with
RV 727 Y32 AN JUR WO1IN

Why did the Pasuk also need to mention
RO PIW NY212IR

It must be to teach that
V7T IV Y]
MR TR DV IV R

However, X2°py 27 in our Mishnah holds that the word
y7W is not superfluous to teach ¥7°7 7V 1Y3, because
23735 M N2 NN YT TR

PIW 0PI N

Since the Pasuk needed to mention 7»m 2 for 1a7's
Drashabh, it also mentions y7w

Dedicated By:

Py

JD2 RS
DT T

A specific nym
is not required.

7)’)",@ Y]
In our Mishnah, regarding
NYNN YT of a TIM NHW )P,

DT TD )D2
WDN YIVI N
MW N2 N

A specific nym
is required.

v

Regarding nnon 123p
DT'T TV )V RD

kb PN D

53 Rbm Ay
LTTP IR RS
&m0 15
He brings a nnvn if he knows
that he sinned - any sin
even if he does not know
which specific nyay.

Regarding Tom nbw )27p
DTT TD ]J’DJ
The Pasuk here éeg}wy with
Dim =N el
Nab ~== o
W/L;y did the Pasuk also
need ty mention
N P meais N
It must be ty teach that
VDT TV ]PV2
IWDIN VIV N
MN Nb22 N

However, R2pp 127 in our Mishnah holds
that the word v is not superfluous to teach

DT TD )b
because
127725 MM VN2 2ANMD WIT 1IN
YW DI 2D
Since the Pasuk needed to mention mm nnna for23’s Drashabh,
it also mentions yw

DafHachaim.org
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The Gemara proceeds with a Braisa regarding nxmv
wp» in which there is a 3-way Machlokes:

MO TARY RV TAR P20 30 1327 130

There were two roads, one was X»v from a n» that was
buried underneath and one was 71770, but it was not known
which road was x»v and which one was Mv;

In the first case;

0121 KD PMURI2 PN

D151 IW1

2N

If after going through both roads one entered the n"a
wpn, he is obligated to a 791 75 1297

And likewise, in the second case;

031N PURI N

5301 WY

0301 3w O "IN

N

If he went through one road, entered the w7p»i m3, and
then purified himself with the 775 79x. He then went
through the other road and again entered the wip»n 13, he
is also obligated to a 77 "W 12p.

This is the X»p Rin's opinion.

01D PYPY AN
DYPW 17 says that in the second case he is 70o.

While 77 12 pynw 17 says that
19132 7010 YW 127
1w 127 holds that in both cases he is Mo,

The Gemara first discusses the latter two opinions of 117
PYPW and PYPW 727 DIWN AT 12 YR 12

DafHachaim.org

WTPH RNV

Yk
NNV TR ROV TN P92V 7NV

There were two roads,
one was Nob from a n» that was buried underneath
and one was 1w,
but it was not known which road was Nov

In f/mﬁly‘ case;
D121 R ORI PM
DO M1W2
2N
If after going through both roads he entered the wTppn m2,
he is obligated to a T n5w )2).

And likewise, in the second case;
D101 NWKRI2 PN
9201 NIV NTH
D101 71W2 PN O"NXY
2N
If he went through one road, entered the wTpmn m2,
and then purified himself with the m® 79N,

He then went through the other road and again entered
thewTpnn M3, he is also obligated to a Tim ndw )2p.

Thisy & the tap 'y gpinion.

S 3/
010

While >3 P //)//\/8 Y] M?A/
12102 VD NYNW 29

In both cases he is o.
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Regarding the first case of

0393 R PURIL o1

oAb RaLoo]

Where he went through both roads before entering the n»a
WIPHT;

The Gemara asks

NI RDV "D

All should agree that he’s 2m, because since he knows
that he certainly became xnv, there is a 71>nna my7?

Therefore, we must say that the Braisa refers to a case
ORI oW D

PORII POIW MW 1w1 PIw MW

YT DR Y RT

He went through the first road, but when he then went
through the second road, he forgot that he also went
through the first road. Therefore, although he is certainly
RV, he only had a partial 7y>7 that he was x»v before he
entered the wpnI 173, because according to his knowl-
edge he was only xnv poo.

And the Machlokes is as follows:

PY»w 127 holds that he's 2°m, because

YT NP IR

YT 533

This partial my>7 is considered a complete 7>'nna 7.

While pynw 229 own 377 12 punw °27 holds that he's Mo,
because

YT NIPN IR RS

77 50

A partial 77 is not considered like a complete ny7
a>nna.

However, they both agree in the second case

01231 PWRI2 TN

5201 WY

01231 3w O 2NN

NV

Because

YT POO WY RY

)% )

Each time he entered, he was only X»v poo from each
road, because he became 7170 in between, and a 7’7’ poO
is not considered a n>°nna ny»7, and he is Mo,

like a complete n>np2 hy T,

DafHachaim.org

Wﬂ&‘m‘ case. ..
D101 XD WRI2 PN
D101 "W

Where he went through both roads
before entering the wTpmn m2;

P4
RI1N RNV 1"PH

All should agree that he’s 2,
because since he knows that he certainly became Rp,
thereis anbnna nym?

D &

JWNI2 I5nw pad
JIWRI2 PN NOW - 12 IDNw Hyw2)
YT NEPY D NINT
He went through the first road,

but when he then went through the second road,
he forgot that he also went through the first road.

Therefore, although he is certainly Nn,
he only had a partial v that he was Npv
before he entered the wTpnn m2,

because according to his knowledge he was only Rov poD.

STV 3 prGy D373 fp e ) S )

MOD 2N

N DEPY IR KD QYT NEPD 1IN

n»T bod NV bod
A partial nym This partial 1
is not considered is considered
a complete n>npa h1T.

The second case - f@é&f/mfr@& .
9201 NIV NTN - DION POKRIL PN
01511 22W2 15N 3"NRY
MLVD

Because

NVYT POD WD N
NV

and anyT poD is not considered a n»nna hy' T,
and he is Wwo.
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While the X»p Rin holds in the first case
0I23 R PURIL PN

0139 W3

N

Because

YT NP IR

7 520

And the X»p Rin holds in the second case

D131 PRI o0

031231 73w31 757 2N 5301 WY N

2N

For which the Gemara gives two explanations:

1.

17 27 explains the X»p Rin holds

Y7 POD VY IR

ke

A questionable my7 is considered a n>nna my 7, and
therefore he is 27n.

2.

While w5 w7 says the Xip Rin is SRvnw? 237 who holds
75NN YT YA R

Even if one had no n>nna ny>7, he also becomes 7w 27n
T

The Gemara proceeds with a contradiction in both j3nv 29
wRYwMN

Here 13 27 holds

YT PO WY

T

While w5 w1 who does not go with this explanation
seems to hold

YT OO WY RY

)% te]

While elsewhere their opinions seem to be reversed, as
the Braisa states

YT 251 790 HIR

Y7251 PO0

Ifa person ate one piece of questionable 15, and he
became aware of this 777°2v oo, and then he ate a second
piece of questionable 25n and became aware of this poo
17°2D,

Dedicated By:
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While the trp tn hold...
In z‘/w%dm‘ case
0121 R ORI PN
01O NW2
27N
Because
YT 535 PP NXPD PR

In the second case
DO NOXRI2 N
92V NIWI DTN
D101 722W21 PN O"NNY
2N

éyﬁ/é@

/ﬂ/’ oy

YT 1PP2RD AYIT POD WY XD
nonna Ny 7

Even if one had no n>nna npm, A questionable
he also becomes is considered a n>nna nv'T,
TIN5 N and therefore he is 27n.

The Gemara proceeds with a contradiction in both
pnr12y and wipb wn
While ép/ﬂ? seems to hold Here Y holdy
YT POD VY XY Yy 7DD VY
NYITD Ny T

While elsewhere their opinions seem to be reversed
as the Braisa states

YTIN 25N PDO YIX
YT 25N PDO

If a person ate one piece of questionable 25n,
and he became aware of this "2 poD,
and then he ate a second piece of questionable 25n
and became aware of this " pop,
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there is a Machlokes in how many »5n owx miap he
must bring;

’17 says

TARYTAR 53 5V IROM RAPY DV

TARY TR 52 5 150 DWR R7aM D

Just as, one brings two nxon mia7p for two MY 'Ry

So too, one brings two "> DWKR MI27p, for two M2 Pov.

PYPY 17 says

AR 150 OWR RHR R IPR

He brings only one ">n owr 129 for the two m2p poo,
because the Pasuk states

PR YRR ...

MO TR I Sy

The repeated, singular word 3w teaches
TMR 15N DWRI 7297 MW N2 7900
He brings one ">n bwx even for multiple my2y pov.

And there is a Machlokes 1307 "2 wph w1 in27's
opinion:

wph v says

MRONY MPSAMD MP*O0 MY T 17 W XD

’171s saying;

Just as, a ny»7 oo between two MaY 'RT1is considered
like a Y1 X7 to separate them to create a separate 211
nron for each 7772 Ry

So too, a my>7’ poo between two m7aY poo also creates a
separate >N DwR arn for each 772p pov.

Accordingly, v’p5 w1 holds also regarding wpn NIV
YT POv WY
7o

DafHachaim.org

There iy o Wachlokes in how many W plt P
he must én‘n?/;

[~y
R2NWY DV
TR TNXR 99 HY NRVN
R2n P>
TRRY TNXR 99 YY "HN DVWR

Just as, one brings two HDROD M2 for two MM INTY;
So too, one brings two n5n DUR M,
for two mmap pob.

S )
TNXR NHN QWK RYR RN 1R

He brings only one nbn bwR |2 for the two myav po,
because the Pasuk states
DM N NS
iy = M Bh
The repeated, singular word 23w teaches
N2 NI NN NN
TN 15N DYN)

He brings onenbn DWR even for multiple mm»2ap pob.

ff/)/é’?
NMPOD NIVIT 12 MY |ND
MRDND MPONHV
) is saying;
Just as, a n»w1 poD
between two M N

So too, a N1 poD
between two mmMp poD

is considered like anyTRT)  also creates a separate

to separate them to create n5n DN 2rn for each
a separate NRLN PN 12D PoD.
foreachnmay Ny

Accordingly, wipb wn holds also regarding wTpm R0

NYYTO — N1 POD WD
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However, jinv '27 says

mROMY mpbrmn ROV RTI MY PW DWI

MPWRS MPSAND PO MY T 2

’171s saying;

Just as, a Y7 'RT between two M2 °RT) creates a
separate nXvn 21 for each 772y 'R

So too, a my’7 oo between two M2V POO can create a
separate ">n DwR arn for each 72y pov.

Apparently, 3nv 27 holds

MROAY MPORNN PR MP’O0 MY

A 7 poo between two m7°2Y 'RT71 is not considered like
any7 R, and accordingly, 131 *27 holds regarding
WIPHN DRIV

YT POO WY RY

1% ko]

However, here, in the case of P>aw 3,
127 holds

YT POv WY

YT

While vp5 w holds

YT POD WY RY

T

The Gemara reconciles as follows
RWP RY 13 727X AT 7377

WY NI

TOY 791 7NN 522 KM

Only regarding w7pn nRmv do we say

YT pOvIwY

ayTo

Because

NTA2 NPT R RYT

The Pasuk does not mention the word ny»7, and ny>7
n>nnais derived merely through the word o5vn. There-
fore, a ny7 pov is sufficient

DafHachaim.org

jﬂ/’ n)
NDOYI 'NRT) MV T DY
MRDDD MPdHHD
NDWRS mpbnnn pep M 5

) IS saying;
Just as, a nv1NT) between two MMV 'R creates a
separate nNvn 2N for each NP2 INTY
So too, a N1 poD between two MM poD can
create a separaten5n DwN 2N for each N2 poD.

/f/bﬁa/mz‘[?/, Y holdy
MpOD MY
MRDDD MPSPHL PN

A nv1 poD between two niya INT) is not
considered like a ny1 8T, and accordingly,
1200127 holds regarding wTpn HNDIL

N POD WY RO
NI

P4

However, here, in the case of p»w 1w,

@/9/@7 Wy

YT POD VY XY NY*T? POHD VY
nY*Td nY*Td

v
ROWP RY 1N 27T ]ANY 2277
VY XD
VY NI NNNN D2 kM

Only regarding wTpn pRoW do we say
NY*T? POD VY
NYITD
Because
N*TN2 NV R2ND NOT
The Pasuk does not mention the word nv',

and n>nn2 1 is derived merely through the word pby2.
Therefore, a nvy1 pop is sufficient
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